o N
8 @

MR

RERTHORE

U oK

S EIHRE R DTS .

S RENEREEE, FHFHNEMER, TROVREEREELEIRF EHSE,
¢ BORENELRES, RESEHENFHEISEBRIENR,

& tRAE R FIPA+F/G(RELRR) R AR

T

B
{E AR ERES

ERREEE T 0~ 60

=aiERAEN MPa 0.9

=IKERESN kPa -100

ERRE BERRE
) AE S B E20 CHRBYEE
Z4No. FERMR MR
@ IRENER PA+F/G (B EL%)
@ ST B
® SHREIR SUS(FEN)
@ OZ[E NBR(T BE#ER)
® A PA+F/G(BEBiR%)
® MRS =i
@ FHE NBR(T BE#ER)
1B o
©) RERZHORE NBR(T B4 E)
L oBs
ITHAR
FE)ITI AL 12H(101),

WPC 06 - 01 C

_I;——— € | NEY

M3: M3 x 0.5
M5: M5 x 0.8

01: R1/8

ERAREME

04: | 4mm | 06: | 6mm

WPC-C: | EiE#k WPUC-C: | HiBiiEe
WPG-C: | RRHEES WPUL-C: | &k
WPGJ-C: | HilfEiTEE WPUT-C: | TEEE
WPL-C: | &gk WPW-C: | YRBZES
WPLJ-C: | L BT ES WPWJ-C: | YBURITRREE
WPLL-C: | &k WPY-C: | Y&
WPT-C: | TEEL WPYJ-C: | YBUEIFIEE

653




PS8

(mm) (mm)

R
R iR R iR
BE A B [¢] D H BE A B (¢} D E H P
= 0 o) | (@ o 9 *F o | @
WPC04-M3C 3.0 15.5 10.5 8.0 M3x0.5 29 WPL04-M3C 3.0 15.8 11.3 15.2 8.0 8.0 M3x 0.5 3.3
WPC04-M5C 3.5 15.7 115 4 8.0 M5 x 0.8 32 WPL04-M5C 3.5 15.1 1.3 4 15.2 8.0 8.0 M5 x 0.8 3.3
WPC04-01C 8.0 15.0 11.5 10.0 R1/8 6.0 WPL04-01C 8.0 16.7 11.3 15.2 10.0 8.0 R1/8 6.1
WPC06-M5C 3.5 16.3 1.7 6 10.0 M5x0.8 3.8 WPL06-M5C 35 15.0 1.7 6 16.5 8.0 104 | M5x0.8 39
WPC06-01C 8.0 18.5 1.7 10.0 R1/8 5.3 WPL06-01C 8.0 18.0 1.7 16.5 10.0 10.4 R1/8 6.8
1) 432 | S S
THEYESL e E iz sk
(mm) (mm)
E__E E
[/
= — A=
a
-
LL_' ! N1
T R <t$ H
M
R R ae R iR
= A B (o] D E H P
&5 ALB G| B [ oy | @ = 0 P st | @
WPT04-M5C 35 15.4 11.3 4 12.7 8.0 8.0 M5x0.8 4.1 WPLL04-M5C 3.5 25.6 11.3 15.2 8.0 8.0 M5 x 0.8 7.9
WPT04-01C 8.0 17.0 113 127 10.0 8.0 R1/8 6.9 WPLL04-M6C 45 26.7 113 4 15.2 8.0 9.0 M6X1.0 8.3
WPT06-M5C 35 16.4 11.7 6 14.0 8.0 10.4 M5x0.8 5.4 WPLL04-01C 8.0 29.2 11.3 15.2 10.0 8.0 R1/8 13.2
WPT06-01C 8.0 18.0 11.7 14.0 10.0 10.4 R1/8 8.2 WPLL06-M5C 3.5 255 1.7 6 15.5 8.0 10.4 M5x 0.8 8.5
WPLL06-01C 8.0 29.4 11.7 16.5 10.0 10.4 R1/8 13.7
» M S
HiBEE BIEE
(mm) (mm)
B
C
Ig
= TS
_ L= ] =) 4 - o
= [h-—siey ]
=k
) fd
ns B c $D oP ;q{'g;g LI B c 4D od F oP )i;
WPUC04C 23.0 11.3 4 8.0 2.0 WPUL04C 13.5 11.3 4 3.2 5.8 8.0 21
WPUC06C 24.4 1.7 6 10.4 3.2 WPULO6C 15.0 11.7 6 3.2 6.5 10.4 3.4

1] f.-- 4
TRIZE
(mm)
S B c $D $d F oP ﬁ(’g%
WPUT04C 135 11.3 4 3.2 5.8 8.0 3.1
WPUT06C 15.0 11.7 6 3.2 6.5 10.4 5.0

654



WP-C

HiBiFEE L B

(mm) (mm)
E
5 —F= ‘_’ﬂ
A =2
= h
od
C1 e | e ©
=1 (=
B
= =
BE B Cil c2 ¢ D1 $D2 E $P (; BE B © ¢D E $P (;
WPGJ06-04C | 327 | 125 | 11.3 6 4 12.7 9.0 1.8 WPLJO4C 235 11.3 4 15.2 8.0 2.0
WPLJ06C 25.2 11.7 6 16.5 10.4 2.6
{ f. 1] & 4. -4
YgalEE Yﬂ#éﬁs
(mm) (mm)
S B [ 4D 6d F J oP ﬂ(’g% e B c $D ¢d F J oP ’Tg%
WPY04C 29.3 1.3 4 3.2 12.9 8.2 8.2 3.4 WPYJ04C 45.0 1.3 4 3.2 12.9 8.2 8.2 35
WPY06C 31.4 11.7 6 3.2 13.2 105 10.4 5.3 WPYJ06C 48.4 11.7 6 3.2 13.2 10.5 10.4 5.5
=%~ 3 (= 1] B 4 f=
#EEJEEE Yﬂ#éEE
(mm) (mm)
- — [aN]IaN]
B Rl LA A = ol a
=Y - =y —
o 1 — | = | - H -
=L L2 A=A —
odJ
B a
p =1
S B c1 c2 $D1 $D2 | $P1 $P2 )i; e B [C1|c2|¢D1|¢D2| ¢d| F | J [¢P1| P2 )Tgf
WPG0604C 24.1 11.7 11.3 6 4 10.4 8.0 2.5 WPW06-04C | 307 [ 11.7 | 11.3] 6 4 [ 32 [129] 80 [104] 80 4.1
1] f==y
YEREFREEE
(mm)
l ﬁ
ng B | ¢t | c2a | ¢eD1| ¢D2| ¢d | F J | epr ’i;
WPWJ06-04C | 47.8 [ 125 | 113 | 6 4 32 | 129 | 82 | 82 | 42

655





